
 Modification Bulletin PAGE: 1/1 

Model: Model PN-C1L Date: 8-Feb-07 No.: MB279001 
 

 

Modified Article: Smart card Prepared by: T. Shintani 

From: 1st Technical Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction 

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Other  

 To meet standards 
() 

Modification 

Schedule: 

From first mass production. 

 

 
<B279> (Model PN-C1L) 

New part 
number 

Description Q’ty Int Page Index Note

G1825514G1825514G1825514G1825514    POWER SUPPLY UNIT - CHN   0→→→→1 - 25 12  

H3209500H3209500H3209500H3209500 SMART CARD: MAINTENANCE 0→→→→1 - - -  

 

Change: This part was added. 
Reason: It was missing from the Parts Catalog. 
 

 



 Modification Bulletin PAGE: 1/1 

Model: Model PN-C1L Date: 10-Sep-07 No.: MB279002 
 

 

Modified Article: Part number change Prepared by: T. Shintani 

From: 1st Technical Support Sec. Service Support Dept.  

Reason for 

Modification: 

 Parts catalog correction 

 To facilitate assembly 

 Part standardization 

 Vendor change 

 To improve reliability 

 Other  

 To meet standards 
() 

Modification 

Schedule: 

From first mass production. 

 

 
<B279> (Model PN-C1L) 

Old part 
number 

New part 
number Description Q’ty Int Page Index Note

B2797502 B2799700 MAIN BOARD CP EU X/O - 4 7 *1 

B2999538 B2999701 FLAT CABLE X/O - 12 1 *2 

6 2 

8 1 B2999514 B2999702 SCREW 3*10 X/O - 

10 1 

*2 

 
 
Change:  

1) Firmware was added to the main board. 
2) The part numbers for the flat cable and screw were changed. 

 
Reason:  

1) The old board (B2797502 service parts only) does not contain firmware. 
2) Parts number management (vendor P/N, Ricoh P/N). 

 
 

IMPORTANT: Do not use the old main board (B2797502) in the field. 
 



Part Change Information List Date: June 30, 2009

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1 B279 200906 G1272502 G1272503 PAPER TRAY UNIT 1 1 O/O 19 *



Part Change Information List Date: September 30, 2009

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1L B279 200909 B2999503 M0481008 SCREW:M3X6:188616956 15 15 O/O 5 2 V0901094

PN-C1L B279 200909 B2999503 M0481008 SCREW:M3X6:188616956 15 15 O/O 7 7 V0901094



Part Change Information List Date: October 30, 2009

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1L B279 200910 B2999702 M0481020 SCREW:M3X10:189393578 2 2 O/O 7 2 V0901094
PN-C1L B279 200910 B2999702 M0481020 SCREW:M3X10:189393578 2 2 O/O 9 1

PN-C1L B279 200910 B2999702 M0481020 SCREW:M3X10:189393578 14 14 O/O 11 1
PN-C1L B279 200910 G1275737 G1915737 HARNESS:SENSOR:5V 1 1 O/O 21 33 V0901664



Part Change Information List Date: November 30, 2009

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1L B279 200911 B2999524 M0481032 SCANNER CABLE:252197288 1 1 O/O 11 5 V0901094



Part Change Information List Date: February 26, 2010

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1L B279 201002 B2999526 M0481034 CABLE:16 PIN::252236978 1 1 O/O 11 7 V0901094



Part Change Information List Date: April 30, 2010

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1L B279 201004 G1825741 G1915741 HARNESS:AIO:5V 1 1 O/O 25 14 V0903272



Part Change Information List Date: May 31, 2010

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1L B279 201005 B2999533 M0481041 SCANNER MOTOR:252151815 1 1 O/O 11 14 V0901094



1/1

Part Change Information List Date: June 30, 2011

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1 B299 201106 G1825510 G1915510 POWER SUPPLY UNIT:EU 1 1 O/O 25 12 V1101029

PN-C1 B279 201106 G1825510 G1915510 POWER SUPPLY UNIT:EU 1 1 O/O 25 12 V1101029



1/1

Part Change Information List Date: March 30, 2012

Model Code PCIL Nr.
PCIL

Correction

Old part

number

New part

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1L B279 201201 M0481035 M0481102 RZF:253443548:SCANNERBOTTOMKIT 1 1 X/O 11 8 RB299006 V1104012 11120775

PN-C1L B279 201201 M0481036 GEAR:55Z:252236895 1 0 X/O 11 9 RB299006 V1104012 11120775

PN-C1L B279 201201 M0481040 HEAT SINK:CIS DRIVE:252151823 1 0 X/O 11 13 RB299006 V1104012 11120775



1/1

Part Change Information List Date: February 29, 2012

Model Code PCIL Nr.
PCIL 

Correction

Old part 

number

New part 

number
Description Old Q'ty New Q'ty Int 3DPC Page Index Set Set Int RTB Note Ref. Nr. ECN Nr.

PN-C1 B279 201202 B2999527 M0481035 SCANNER BASE:253018824 1 1 O/O 11 8 V1102628
PN-C1 B299 201202 B2999527 M0481035 SCANNER BASE:253018824 1 1 O/O 11 8 V1102628



Part Change Information List Date: February 27, 2015

Model Code

PCIL

Number

PCIL

Correction

Old part

number

New part

number Description Old Q’ty
New Q’

ty Int 3DPC Page Index Set Set Int RTB Note

Ref

Number

ECN

Number

PN-C1 B299 201502 G1274211 G1274210 FUSING UNIT:ASS'Y 1 1 X/O 23 1 For 220V V1201095 12032098

PN-C1L B279 201502 G1274211 G1274210 FUSING UNIT:ASS'Y 1 1 X/O 23 1 For 220V V1201095 12032098



Part Change Information List Date: April  1, 2015

Model Code

PCIL

Number

PCIL

Correction

Old part

number New part number Description Old Q’ty
New Q’

ty Int 3DPC Page Index Set Set Int RTB Note

Ref

Number

ECN

Number

PN-C1 B299 201503 M0489501 M0489502 ADF PAPER FEED ASS'Y 253017421:252970629 1 1 O/O N 17 25 Y V1500678



Part Change Information List Date: April  28, 2016

Model Code PCIL Number PCIL Correction Old part number New part number Description Old Q’ty New Q’ty Int 3DPC Page Index Set Set Int RTB Note Ref Number ECN Number

PN-C1L B279 201604 B2999537 M0481045 CIS SPRING:252152528 2 2 O/O N 11 18 V0901094

PN-C1 B299 201604 B2999537 M0481045 CIS SPRING:252152528 2 2 O/O N 11 18 V0901094


	MB 1: Smart card
	MB 2: Part number change
	PCIL: June 2009
	PCIL: September 2009
	PCIL: October 2009
	PCIL: November 2009
	PCIL: February 2010
	PCIL: April 2010
	PCIL: May 2010
	PCIL: June 2011
	PCIL: January 2012
	PCIL: February 2012
	PCIL: February 2015
	PCIL: March 2015
	PCIL: April 2016

